Solutions (Part I1) Lab-session 8
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Private Sub 3B1 Change ()
TEl1l.Value = 3Bl.Value
TBZ.Value = 3gr (2 / SBl.Value)
End Sub

Where SB1, TB1 and TB2 are the names of the SpinButton and the First and Second
TextBoxes, respectively.
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Private Sub CE1l_Change ()

Dim cwl, cwZ2, exam As Integer

cwl = Application.WorksheetFunction.VLookup (CBl.Value, [a2:d5], 2, False)
cwz Application.WorksheetFunction.VLookup (CEl.Value, [a2:d5], 3, False)
exaw = Application.WorksheetFunction.VLookup (CBEl.Value, [a2:d5], 4, False)
TEl.Value = (10 * (cwl + cw2) + 80 * (exam)) / 100

If TEl.Value < 40 Then

TEZ .Value = "Resit"

Else

TBZ .Value = "Pass"

End If

Fnd Sub

Where CB1, TB1 and TB2 are the names of the ComboBox and the first and second
TextBoxes, respectively.



